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70~79 1,147 | 65% 46 242% | 1,022 | 6.6% 4.0% 89.1%
60~69 2348 | 13.3% 28 147% | 2,160 | 14.0% 1.2% 92.0%
ol 50~59 2,541 | 14.4% 10 53% | 2321 | 15.0% 0.4% 91.3%
& 40~49 2464 | 14.0% 4 21% | 2,198 | 14.2% 0.2% 89.2%
E 30~39 2242 | 127% 1 05% | 1972 | 12.8% 0.0% 88.0%
20~29 2542 | 14.4% 0 00% | 2,254 | 14.6% 0.0% 88.7%
10~19 2,006 | 11.4% 0 00% | 1,703 | 11.0% 0.0% 84.9%
0~9 1,495 | 85% 0 00% | 1,220 | 7.9% 0.0% 81.6%
] OHQ AN} H s s
T E 8 [ 28 85 |28 [ oFs [ 70] [ &5 (B0 [ 85 (=28 | aN [ =9
A 555/ 100| 116 26 7 78 6 16 12 71 109 1
A +9] 42| +1 - - -+ - -1 +5 -
T E oM S5 | EY | g4 Bk [ 1¥ | dF (2 o | 83 2% | 28
= A 4 8 2 5 4 6 4| 31 7 - 6 -
A - - - +1 - - - +1 - -
O A28 AR Mg o
(Chel -
FA | 28 | A7 24| ¢8| 70 |97 | 94 | A7 | =4 | AL 29|94
252514 | 1,77063 |964GD | 624 |2496G3)| 545 | 439 |328(+2)|286GD (2837+3)| M | B1¢D
1?;46360)5 A4 | 99 |99 A= | 1¥ |[AF | A3 | 9d | B3| 7 | £%
86 35 | 179 248 | 260 |296+1)|673¢+D)| 227 | 126 | 225 | 16




